

Exercise 2.1

Prof.M.Tanveer Contact No.0300-9602869

f(x) = 1x1+1x-11 is continuous Show that function tor every value of a but is not differentiable

## Sol. Continuouty: f(x) = |x| + |x-1|

$$\lim_{x\to a^{-}} f(x) = \lim_{x\to a^{-}} |x| + |x-1|$$

$$x=a-h$$
, when  $x \Rightarrow 0$  then  $h \Rightarrow 0$   
 $\lim_{k \to a^-} f(x) = \lim_{k \to 0} |a-h| + |a-h-1|$   
 $= |a-0| + |a-0-1|$   
 $= |a| + |a-1|$ 

$$\lim_{x\to a^+} f(x) = \lim_{x\to a^+} |x| + |x-1|$$

$$\lim_{x \to a^{+}} f(x) = \lim_{h \to 0} |a+h| + |a+h-1|$$
  
=  $|a+o| + |a+o-1|$   
=  $|a| + |a-1|$ 

$$f(a) = 1a + 1a - 11$$

$$\lim_{x \to a^{+}} f(x) = \lim_{x \to a^{-}} f(x) = f(a)$$

function is continuous.

Differentiability:  

$$f(x) = |x| + |x - 1|$$

$$Lf'(1) = \lim_{x \to 1} \frac{f(x) - f(1)}{x - 1}$$

$$= \lim_{x \to 1} \frac{|x| + |x - 1| - (|1| + |1 - 1|)}{x - 1}$$

$$= \lim_{x \to 1} \frac{|x| + |x - 1| - (|1| + 0)}{x - 1}$$

$$= \lim_{x \to 1} \frac{|x| + |x - 1| - |1|}{x - 1}$$

$$= \lim_{x \to 1} \frac{|x| + |x - 1| - |1|}{(x - 1)}$$

Differentiability: f(x) = |x| + |x-1|

$$f(x) = \frac{1}{1} \frac{1}{$$

$$Lf(0) = \lim_{x \to 0^{-}} \frac{|x| + |x-i| - 1}{x}$$

$$x = 0 - h$$

when 
$$x \rightarrow 0 \Rightarrow h \rightarrow 0$$

Lf (0) = 
$$\lim_{h\to 0} \frac{|0-h|+|0-h-1|-1}{0-h}$$
  
=  $\lim_{h\to 0} \frac{|-h|+|-(1+h)|-1}{-h}$   
=  $\lim_{h\to 0} \frac{|x+x+h-1|}{|x+x+h-1|}$   
=  $\lim_{h\to 0} \frac{-2h}{|x+x+h-1|} = \lim_{h\to 0} \frac{(-2)}{|x+x+h-1|}$ 

$$Lf'(0) = -2$$

$$Rf'(0) = \lim_{x \to 0^+} \frac{f(x) - f(0)}{x - 0}$$

$$= \lim_{x \to 0^+} \frac{|x| + |x - 1| - 1}{x}$$

$$\alpha = 0 + h$$
, when  $\alpha \rightarrow 0 \rightarrow h \rightarrow 0$ 

$$Rf'(0) = \lim_{h \to 0} \frac{|0+h| + |0+h-1| - 1}{0+h} \\
= \lim_{h \to 0} \frac{h + ||h| - ||h|| - 1}{h}$$

= 
$$\lim_{h\to 0} \frac{k+1-h-1}{h} = \lim_{h\to 0} (0)$$

$$Rf'(o) \neq Lf'(o)$$

Ef (0) = Lim 25in(2) = 0[-1,1] Rf(0) = Lim x2Sin(1/2)-0 = Lyn 2 Sin (1/x) = 0. [-1,1] Lf'(0) = Rf'(0) is differentiable at x=0 continuous and differentiable (1) Lim f(0) = f(0) YEQ. Continuous:  $i, \quad f(a) = 0$ = (a-a) Sin  $(\frac{1}{a-a})$ = 0 Sin (1) f(x) = f(a)(111) Lim function is continuous at x=a. Differentiable:  $(x-a)\sin(\frac{1}{x-a})$ Lf'(a) = Lim =  $\lim_{x\to a^{-}} \frac{(x-a)\sin(\frac{1}{x-a})}{-(x-a)}$ =  $\lim_{x \to a^{-}} \frac{\sin\left(\frac{1}{x-a}\right)}{x}$  $= \frac{\sin\left(\frac{1}{6}\right)}{\sin\left(\frac{1}{6}\right)} = \sin\left(\frac{1}{6}\right)$ = Sin (00) = [-1,1] Lf(a) does not exist. > function is not differentiable

5.  $f(x) = \{x + an'(\frac{1}{2})$ check continuouty and (3) differentiability. Continuouly (o) = 0  $\lim_{x\to 0} \lim_{x\to 0} f(x) = \lim_{x\to 0} \operatorname{sctan}'\left(\frac{1}{x}\right)$  $= 0.1am(\frac{1}{6})$ = 0. [-1,1] f is continuous at x=0. Differentiables. Lf(x)= Lim xtan (1/x)-0 = [-1,1] Limit does not exist > function is not differentiable. 6. Find Lf(2) and Rf(2) f(x) = 1x2 41  $Lf'(2) = \lim_{x \to 2} \frac{f(x) - f(2)}{x - 2}$ but x=2-h, when x=2, h=0 Lf (2) = Lim 1(2-h)2-41 14+15-45-41 1h2-4h1 = Li

put a=1 in 1   

$$\frac{\pi}{6} + b = \frac{\sqrt{3}}{2}$$
 $b = \frac{\sqrt{3}}{2} - \frac{\pi}{6}$ 
 $b = 3\sqrt{3} - \pi$ 

$$\begin{bmatrix} a=1 \\ b=3\overline{3}-x \\ 6 \end{bmatrix}$$

9. 
$$f(x) = \begin{cases} x + anh(x) & x \neq 0 \\ 0 & x = 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \\ e^{2|x} + 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \\ e^{2|x} + 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x \neq 0 \end{cases}$$

$$f(x) = \begin{cases} x - e^{2|x} - 1 & x$$

$$tanh(x) = \frac{e^{-2} - e^{-2}}{e^{-2} + e^{-2}}$$

$$tanh(\frac{1}{x}) = \frac{e^{1/x} - e^{1/x}}{e^{1/x} + e^{1/x}}$$

$$tanh(\frac{1}{x}) = \frac{e^{1/x} - \frac{1}{e^{1/x}}}{e^{1/x} + \frac{1}{e^{1/x}}}$$

$$tanh(\frac{1}{x}) = \frac{e^{1/x} - \frac{1}{e^{1/x}}}{e^{1/x} + \frac{1}{e^{1/x}}}$$

$$tanh(\frac{1}{x}) = \frac{e^{1/x} - 1}{e^{1/x} + 1}$$

$$tanh$$